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R E 4 - B 8BTS X Fvs JIS K6740-1(1SO 1163-1)-PVC-U.082-05-T28
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EAYNERAEIRE | JIS K 6740-2 °Cc 80~84 82
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(JyFid=) JIS K 6740-2 kd/m 10LLF 5.0

5| aRAE R JIS K 6740 -2 MPa 2,500~ 3,000 2,650
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& FRE HEE BIEE | RRE | FEE JTE|ARE HEE JITE | SRE ZE8F AEE
A—6 200 210/ £5.0 209 288 =50 286 39 £50 39 30 =03 3.3
A—6 250 260 £5.0 259 330/ x=5.0 332 35 =£50 37 30 =03 2.9
A—6 300 310/ £5.0 314 384 x50 386 37 =50 36 30 =03 2.9
A—6 350 360/ £5.0 361 440 =£50 441 40 =£50 40 30 =03 3.2
A—6 400 410 £5.0 409 496 +50 496 43 +50 44 30 =03 2.8
A—6 450 460 =50 461 554/ =50 554 47 =£50 47 30 =03 3.3
A—6 500 510/ £5.0 509 610 £=5.0 610 50 =£50 51 30 =03 2.8
A—6 600 610/ £5.0 610 726) =50 727 58 =£50 58 6.0 =06 6.5
A—6 700 710 £=5.0 708 846 =50 844 68 £50 68 6.0 =06 6.1
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